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Section : General Awareness

Q.1 The coveted Maharashtra Bhushan Award for 2022 was conferred on , who
is a renowned social worker and reformer in tribal areas.
Ans 1. Vivek Velankar
2. Sindhutai Sapkal
«” 3. Appasaheb Dharmadhikari
4. Narendra Dabholkar
Question ID : 630680262479
Option 1 ID : 6306801019558
Option 2 ID : 6306801019555
Option 3 ID : 6306801019557
Option 4 ID : 6306801019556
Status : Answered
Chosen Option : 3
Q.2 When did the provisions of the Panchayats (Extension of The Scheduled Areas) Act
come into force?
Ans 1. 24 December 1991
w” 2. 24 December 1996
3. 24 December 1995
4. 24 December 2000
Question ID : 630680266348
Option 1 ID : 6306801034843
Option 2 ID : 6306801034845
Option 3 ID : 6306801034844
Option 4 ID : 6306801034846
Status : Answered

Chosen Option :

1
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Q.3 In 2021-22, at current prices, which of the following sectors contributed the maximum

to Punjab's economy?

Ans  # 1. Service
2. Mining
3. Agricultural

4. Manufacturing

Question ID : 630680317652
Option 1 ID : 6306801235712
Option 2 ID : 6306801235710
Option 3 ID : 6306801235709
Option 4 ID : 6306801235711
Status : Answered
Chosen Option : 3
Q.4 Lodhi Fort (Purana Qila), which is located in Ludhiana, was built by which of the
following Muslim rulers?
Ans 1. Bahlol Lodhi
2. Muhammad Shah Lodhi
«# 3. Sikander Lodhi
4. Ibrahim Lodhi
Question ID : 630680317650
Option 1 ID : 6306801235703
Option 2 ID : 6306801235704
Option 3 ID : 6306801235702
Option 4 ID : 6306801235701
Status : Answered
Chosen Option : 3
Q.5 In which of the following state governments’ Sports Policy 2023 is there a provision for
State Sports Authority?
Ans 1. Haryana
2. Punjab
«# 3. Uttar Pradesh
4. Maharashtra
Question ID : 630680261200
Option 11D : 6306801014561
Option 2 ID : 6306801014560
Option 3 ID : 6306801014559
Option 4 ID : 6306801014562
Status : Answered

Chosen Option :

1
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Q.6 Punjab Khetibari Union was established by which of the following leaders?
Ans 1. Balbir Singh Rajewal

# 2. Chaudhary Charan Singh
3. Sucha Singh Chhotepur
4. Mohan Singh Tur

Question ID : 630680317653
Option 1 ID : 6306801235715
Option 2 ID : 6306801235716
Option 3 ID : 6306801235714
Option 4 ID : 6306801235713
Status : Answered
Chosen Option : 1

Q.7 The presence of moisture in the air is referred to as:
Ans 1. fog

2. water
" 3. humidity

4. snow

Question ID : 630680216287
Option 1 ID : 630680839126
Option 2 ID : 630680839125
Option 3 ID : 630680839124
Option 4 ID : 630680839123
Status : Answered
Chosen Option : 3

Q.8 The UN 2023 Water Conference, ‘Water for Sustainable Development,’ in March 2023,
coincided with World Water Day on which of the following days?

Ans 1. 23 March
2. 20 March

«” 3. 22 March

4. 21 March

Question ID : 630680261267
Option 1 ID : 6306801014830
Option 2 ID : 6306801014827
Option 3 ID : 6306801014829
Option 4 ID : 6306801014828
Status : Answered
Chosen Option : 3
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Q.9 Which of the following states of India has become the first state to pass the Right to
Health Bill in March 20237

Ans 1. Odisha

«” 2. Rajasthan

3. Tripura
4. Assam
Question ID : 630680227947
Option 1 1D : 630680884464
Option 2 ID : 630680884463
Option 3 ID : 630680884466
Option 4 ID : 630680884465
Status : Answered
Chosen Option : 2
Q.10 The Punjab Reorganization Bill was passed in which of the following years?
Ans 1. 1965
2.1968
3. 1967
o 4. 1966
Question ID : 630680317647
Option 1 ID : 6306801235692
Option 2 ID : 6306801235689
Option 3 ID : 6306801235690
Option 4 ID : 6306801235691
Status : Answered
Chosen Option : 4
Q.1 , who gave a landmark review on the economics of biodiversity, has been
declared as the Champion of the Earth by the United Nations Environment Programme
in 2022.
Ans 1. Afroz Shah
2. Gul Panag
3. Vinod Khosla
" 4. Partha Dasgupta
Question ID : 630680227961
Option 1 1D : 630680884521
Option 2 ID : 630680884519
Option 3 ID : 630680884522
Option 4 ID : 630680884520
Status : Answered
Chosen Option : 3
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Q.12 As of July 2023, under the ‘Bebe Nanki Laadli Beti Kalyan’ scheme of the Government
of Punjab, what is the total amount that LIC will disburse to the guardian of a girl child

in different stages up to the age of 18 years?

Ans 1.%91,000
«” 2.3%61,000
3.%81,000
4.%71,000

Question ID : 630680317656
Option 1 ID : 6306801235728
Option 2 ID : 6306801235725
Option 3 ID : 6306801235727
Option 4 ID : 6306801235726
Status : Answered
Chosen Option : 4
Q.13 In which of the following years was Sardar Hukam Singh unanimously elected as the
Deputy Speaker of the Lok Sabha?
Ans 1. 1959
o 2. 1956
3. 1958
4.1957
Question ID : 630680317648
Option 1 ID : 6306801235696
Option 2 ID : 6306801235693
Option 3 ID : 6306801235695
Option 4 ID : 6306801235694
Status : Answered
Chosen Option : 2
Q.14 I3 fefami &S faadt HWnet Ba339 € fermsT adt 32
Ans 1. € AE&! qrgrdTdt
o 2. Tedadt araramdt
3. feA<d Haa9
4. AHfaa finerdt
Question ID : 63068090761
Option 1 1D : 630680351819
Option 2 ID : 630680351818
Option 3 ID : 630680351820
Option 4 ID : 630680351821
Status : Answered
Chosen Option : 2
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Q.15 Who among the following is an India-born professor who has been awarded the
prestigious Order of Merit by Britain's King Charles Il in recognition of his
distinguished service to science in 20227

Ans 1. Professor Krishna Kumar Chatterjee
2. Professor Yadvinder Malhi
«” 3. Professor Venki Ramakrishnan

4. Professor Subhash Khot

Question ID : 630680227719
Option 1 ID : 630680883552
Option 2 ID : 630680883554
Option 3 ID : 630680883553
Option 4 ID : 630680883551
Status : Answered
Chosen Option : 1
Q.16 India was NOT the host of which of the following sports events in the year 20237
Ans  # 1. Men’s World Boxing Championship 2023
2. FIH Hockey World Cup 2023
3. AFC Women's Asian Cup football
4. Women World Boxing Championship 2023
Question ID : 630680265740
Option 1 ID : 6306801032430
Option 2 ID : 6306801032427
Option 3 ID : 6306801032429
Option 4 ID : 6306801032428
Status : Answered
Chosen Option : 3
Q.17 Which of the following schemes is NOT a part of components of 'Sambal’ sub-scheme
of mission Shakti in 20227
Ans 1. Women Helpline (WHL)
2. One Stop Centre (OSC)
3. Beti Bachao Beti Padhao (BBBP)
«” 4. Swadhar Greh
Question ID : 630680170410
Option 1 1D : 630680660234
Option 2 ID : 630680660233
Option 3 ID : 630680660235
Option 4 ID : 630680660236
Status : Answered
Chosen Option : 2
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Q.18 Which of the following provisions of the Constitution were taken from the Irish
constitution?

Ans 1. Fundamental rights
2. Fundamental duties
" 3. Directive principles of State policy

4. Concept of citizenship

Question ID : 630680146507
Option 11D : 630680566912
Option 2 ID : 630680566911
Option 3 ID : 630680566913
Option 4 ID : 630680566910
Status : Answered
Chosen Option : 3
Q.19 Under which article of the Indian Constitution can the President promulgate an
ordinance when Parliament is NOT in session?
Ans  # 1. Article 123
2. Article 61
3. Article 213
4. Article 238
Question ID : 630680266061
Option 1 ID : 6306801033711
Option 2 ID : 6306801033713
Option 3 ID : 6306801033712
Option 4 ID : 6306801033714
Status : Answered
Chosen Option : 3
Q.20 How many Lok Sabha seats are allotted to the state of Himachal Pradesh?
Ans 1.5
o 2.4
3.6
4.2
Question ID : 63068062078
Option 1 ID : 630680239631
Option 2 ID : 630680239632
Option 3 ID : 630680239633
Option 4 ID : 630680239630
Status : Answered
Chosen Option : 2
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Q.21 The Legislative Council is also known as the
Ans 1. House of Representatives

2. Council of States

3. Lower House of the state legislature

" 4. Upper House of the state legislature

Question ID : 630680265198
Option 1 ID : 6306801030281
Option 2 ID : 6306801030282
Option 3 ID : 6306801030280
Option 4 ID : 6306801030279
Status : Answered
Chosen Option : 2
Q.22 In which of the following years did Kerala declare the palliative care policy?
Ans  # 1.2008
2.2005
3.20M1
4.2014
Question ID : 630680216292
Option 1 ID : 630680839144
Option 2 ID : 630680839143
Option 3 ID : 630680839145
Option 4 ID : 630680839146
Status : Answered
Chosen Option : 1
Q.23 In which year was Ayushman Bharat - Mukh Mantri Sehat Bima Yojana (AB-MMSBY)
launched? It is a flagship State health insurance scheme for the beneficiaries of the
State of Punjab.
Ans 1. 2022
2.2021
o 3.2019
4.2020
Question ID : 630680317657
Option 1 ID : 6306801235732
Option 2 ID : 6306801235731
Option 3 ID : 6306801235729
Option 4 ID : 6306801235730
Status : Answered
Chosen Option : 4
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Q.24 In December 2022, who among the following has secured a place in the top 25 in
Forbes' annual list of the highest-paid female athletes in the world?

Ans 1. Lovlina Borgohain
«” 2. PV Sindhu
3. Saina Nehwal

4. MC Mary Kom

Question ID : 630680170425
Option 1 ID : 630680660295
Option 2 ID : 630680660294
Option 3 ID : 630680660293
Option 4 ID : 630680660296
Status : Answered
Chosen Option : 2
Q.25 Which Constitutional Amendment Act gave constitutional status to the municipalities?
Ans 1. 73" Constitutional Amendment Act
o 2. 74™ Constitutional Amendment Act
3. 76! Constitutional Amendment Act
4. 75" Constitutional Amendment Act
Question ID : 630680261309
Option 1 ID : 6306801014995
Option 2 ID : 6306801014996
Option 3 ID : 6306801014998
Option 4 ID : 6306801014997
Status : Answered
Chosen Option : 2
Q.26 Which of the following persons from Punjab served as Secretary to Mahatma Gandhi?
Ans o 1. Amrit Kaur
2. Simran Kaur
3. Danish Kaur
4. Amarjeet Kaur
Question ID : 630680317646
Option 1 ID : 6306801235688
Option 2 ID : 6306801235687
Option 3 ID : 6306801235686
Option 4 ID : 6306801235685
Status : Answered
Chosen Option : 1
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Q.27 Which of the following IITs developed a pocket-friendly device to detect milk
adulteration?

Ans 1. 1IT Delhi

«" 2. lIT Madras

3. lIT Mandi
4. 1IT Bombay
Question ID : 630680261347
Option 1 ID : 6306801015123
Option 2 ID : 6306801015125
Option 3 ID : 6306801015126
Option 4 ID : 6306801015124
Status : Answered
Chosen Option : 2
Q.28 What is the function of Antarctic-Environmental Protocol?
Ans 1. To allow all mining in Antarctica, designating the continent as a natural reserve
devoted to peace and science.
2. To allow partial mining in Antarctica for common people.
" 3. To ban all mining in Antarctica, designating the continent as a natural reserve
devoted to peace and science.
4. To ban partial mining in Antarctica, designating the continent as a natural reserve
devoted to common people.
Question ID : 63068070133
Option 1 ID : 630680271170
Option 2 ID : 630680271173
Option 3 ID : 630680271172
Option 4 ID : 630680271171
Status : Answered
Chosen Option : 4
Q.29 Which state has a Legislative Assembly with 32 members under Article 371F of the
Constitution of India?
Ans o 1. Sikkim
2. Tripura
3. Goa
4. Jharkhand
Question ID : 630680195828
Option 1 ID : 630680759756
Option 2 ID : 630680759757
Option 3 ID : 630680759755
Option 4 ID : 630680759758
Status : Answered
Chosen Option : 1
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Q.30 Ram Bagh Garden in Amritsar was built by which of the following Sikh rulers?
Ans 1. Maharani Chand Kaur

" 2. Maharaja Ranijit Singh
3. Maharaja Kharak Singh
4. Maharaja Nau Nihal Singh

Question ID : 630680317651
Option 1 ID : 6306801235705
Option 2 ID : 6306801235707
Option 3 ID : 6306801235706
Option 4 ID : 6306801235708
Status : Answered
Chosen Option : 2
Q.31 As per Census 2011, what was the percentage of female literacy in Punjab?
Ans  # 1.70.73%
2.60.73%
3.80.73%
4.50.73%
Question ID : 630680317654
Option 1 ID : 6306801235718
Option 2 ID : 6306801235717
Option 3 ID : 6306801235720
Option 4 ID : 6306801235719
Status : Answered
Chosen Option : 2
Q.32 Who was the chairman of the committee that was constituted in 1965 for the
Panchayati Raj elections?
Ans 1. RK Khanna
" 2. KSanthanam
3. VR Rao
4. RR Diwakar
Question ID : 630680261324
Option 1 ID : 6306801015057
Option 2 ID : 6306801015058
Option 3 ID : 6306801015055
Option 4 ID : 6306801015056
Status : Answered
Chosen Option : 3
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Q.33 Under the Constitution of India the judiciary is considered to be the guardian of

Ans  # 1. all Fundamental Rights
2. some Fundamental Rights
3. only Right to Equality
4. only Right to Freedom

Question ID :
Option 11D :

Option 2 ID

630680261082
6306801014088

: 6306801014087
Option 31D :
Option 4 ID :

Status :

Chosen Option :

6306801014089
6306801014090
Answered

1

Ans 1. Guru Tegh Bahadur
2. Guru Arjan Dev
«” 3. Guru Har Gobind

4. Guru Amar Das

Q.34 The original 'Adi Granth', containing verses by the founder of Sikhism, Guru Nanak,
and other Sikh Gurus and saints, was compiled by which of the following Sikh Gurus?

Question ID :
Option 11D :
Option 2 ID :

Option 3 ID
Option 4 ID

630680317649
6306801235699
6306801235698

: 6306801235700
: 6306801235697

Status :
Chosen Option :

Answered
2

Q.35 As per Census 2011, what was the approximate population of Punjab?
Ans 1. 1.77 crores
2.4.77 crores
3. 3.77 crores

w” 4.2.77 crores

Question ID :

Option 1 ID

Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680317655

: 6306801235721
Option 21D :

6306801235724
6306801235723
6306801235722
Answered

4

Section : Quantitative Aptitude and Numerical Skills
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Q.36 By selling an article at 70% of its marked price, a merchant makes a profit of 5%. If he
sells the article at 90% of its marked price, then the profit percentage will be:
Ans 1. 15%
2.5%
«" 3.35%
4.50%
Question ID : 630680262293
Option 11D : 6306801018813
Option 2 ID : 6306801018814
Option 3 ID : 6306801018812
Option 4 ID : 6306801018811
Status : Answered
Chosen Option : 3
Q.37 The speed of the bike of a policeman is 30 km/h and the speed of his cycle is 15 km/h.
The speed of the cycle of the thief is 20 km/h. The policeman chases the thief, who is
on the cycle. He covers half of the distance on the cycle and half on the bike and
catches the thief in an hour. What is the distance covered by the policeman in the
chase?
Ans 1. 12 km
" 2.20 km
3. 18 km
4.15km
Question ID : 630680227075
Option 1 1D : 630680880991
Option 2 ID : 630680880994
Option 3 ID : 630680880993
Option 4 ID : 630680880992
Status : Answered
Chosen Option : 3
Q.38 The price of an antique item depends directly on the age of the antique. An item was
made in 1940 and the price of an antique item in 2020 was ¥1,50,000. A similar item
made 180 years ago will have the price ¥ now.
Ans 4 1.3,37,500
2.3,77,500
3. 3,57,000
4.3,75,000
Question ID : 630680227072
Option 1 1D : 630680880980
Option 2 ID : 630680880982
Option 3 ID : 630680880981
Option 4 ID : 630680880979
Status : Answered

Chosen Option :

1
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Q.39 Two trains P and Q are 150 m and 200 m long, respectively, crossing (cross) each
other in opposite directions. If the speed of P is 72 km/h and Q is 108 km/h, what time

will be taken by them to cross each other?

Ans 1. 8 seconds
2. 5 seconds
w# 3.7 seconds

4.6 seconds

Question ID : 630680268847
Option 1 ID : 6306801044702
Option 2 ID : 6306801044699
Option 3 ID : 6306801044701
Option 4 ID : 6306801044700
Status : Answered
Chosen Option : 3
Q.40 A shopkeeper allows a discount of 15% on the marked price of an item but charges a
sales tax of 12% on the discounted price. If the customer pays ¥2,200 as the price
including the sales tax, then what is the marked price of the article (Consider integer
only).
Ans 1.%2,150
2.%2,115
3.%1,235
" 4.32,310
Question ID : 630680136620
Option 1 1D : 630680529097
Option 2 ID : 630680529095
Option 3 ID : 630680529094
Option 4 ID : 630680529096
Status : Answered
Chosen Option : 4
Q.41 Thevalueof 72-24 +40f2+6 x5 is:
Ans 1.54
o 2.99
3.38
4.90
Question ID : 630680119841
Option 1 1D : 630680464430
Option 2 ID : 630680464431
Option 3 ID : 630680464433
Option 4 ID : 630680464432
Status : Answered
Chosen Option : 2
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Q.42 If A alone can complete a work in 9 days more than A + B together and B alone can
complete the same work in 16 days more than A + B together. Working on alternate

days, starting with B, the total number of days needed to finish the work is:

Ans 1.32
2.26
3.30
o 4.24
Question ID : 630680267449
Option 1 ID : 6306801039174
Option 2 ID : 6306801039172
Option 3 ID : 6306801039171
Option 4 ID : 6306801039173
Status : Answered
Chosen Option : 3
Q.43 i
Which of the following is equivalent to 8*?
Ans 5
1. A2
2
7
2. A3
2
2
3. 82
9
W 4 24-
Question ID : 630680131669
Option 1 ID : 630680509889
Option 2 ID : 630680509888
Option 3 ID : 630680509886
Option 4 ID : 630680509887
Status : Answered
Chosen Option : 4
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Q.44 The annual rate of interest offered by the two Finance Companies P and Q over the
years are shown by the line graph provided below. If amounts deposited in the
companies P and Q are in the ratio 5 : 6, in the year 2017, the interests accrued by the
next year are in the ratio:

Ans 1.10:13
o 2.11:18
3.8:15
4.9:14
Question ID : 630680267451
Option 1 ID : 6306801039179
Option 2 ID : 6306801039182
Option 3 ID : 6306801039180
Option 4 ID : 6306801039181
Status : Answered
Chosen Option : 1
Q.45
Ans 1.0.1
2.0.01
3.0.09
o 4.1
Question ID : 630680139975
Option 1 ID : 630680541770
Option 2 ID : 630680541771
Option 3 ID : 630680541772
Option 4 ID : 630680541773
Status : Answered
Chosen Option : 4
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Q.46 The distance between two stations is 135 km. The speed of a train is 45 km/h. How
much time will the train take to cover the distance between the two stations?

Ans 1. 2 hours
2. 1 hour 30 minutes
«” 3. 3 hours

4. 2 hours 30 minutes

Question ID : 630680131275
Option 1 ID : 630680508367
Option 2 ID : 630680508366
Option 3 ID : 630680508369
Option 4 ID : 630680508368
Status : Answered
Chosen Option : 3

Q.47 In Class | there are 12 students of average age 20 years, and in Class Il there are 16

students of average age 23 years. What is the average age of the students of both the
classes?

Ans 1.20.7 years
w” 2.21.7 years

3. 43 years
4.1.53 years

Question ID : 630680207815
Option 1 ID : 630680805494
Option 2 ID : 630680805493
Option 3 ID : 630680805492
Option 4 ID : 630680805491
Status : Answered
Chosen Option : 2

Q.48 In an election, 10% of voters did not cast their votes. The successful candidate got
62% of the valid votes and won by a majority of 1728 votes. If 20% of votes were found
invalid, then the number of voters enrolled in the voters list are:

Ans 1. 8000
«" 2. 10,000
3.12,000
4.17,280

Question ID : 630680268935
Option 1 ID : 6306801045047
Option 2 ID : 6306801045050
Option 3 ID : 6306801045049
Option 4 ID : 6306801045048
Status : Answered
Chosen Option : 4
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Q.49 gifgfent €t o3 ferR g1g @ 2dq1 ? gy 3T fifd 39 3 ges< afddt 1 a8 afafeni §
f3& cafaui &g 33 feaT AR 31 fog i3 We & 252,000 I AT I AGI TR IR AR 2

Ans

3 : 4 @ WxYT3 39 I 31 A H3 fdat 2
& 1.31,00,000

2.%32,000
3.%47,320
4.%26,000

Question ID :

Option 1 ID

Status

630680135777

: 630680525827
Option 21D :
Option 31D :
Option 4 ID :

630680525829
630680525828
630680525826

: Answered
Chosen Option :

1

Q.50 A dishonest dealer gets 10% discount on the goods bought from a wholesaler. He
marks up his goods by 44% on the undiscounted price and announces 25% discount
on the goods. He cheats both his wholesaler and his customer by 200 g while buying

and selling 1 kg. What is his profit percentage?

Ans
1. 75%
2. 85%
v 3 80%
4. 90%
Question ID : 630680122773
Option 1 ID : 630680476002
Option 2 ID : 630680476003
Option 3 ID : 630680476004
Option 4 ID : 630680476005
Status : Answered
Chosen Option : 3
Q.51
Ans 1.%56.77
2.%58.70
«" 3.357.58
4.%66.30
Question ID : 630680268327
Option 1 ID : 6306801042662
Option 2 ID : 6306801042661
Option 3 ID : 6306801042660
Option 4 ID : 6306801042659
Status : Answered

Chosen Option :

1
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Q.52 The price of an item is increased by 25% and then, two successive discounts of 5%
and 10% are allowed. By what percentage is the price of the item increased or
decreased (rounded off to two decimal places)?

Ans 1. Decreased by 5.90%
¥ 2. Increased by 6.88%
3. Increased by 7.40%

4. Increased by 8.20%

Question ID : 630680268318
Option 1 ID : 6306801042626
Option 2 ID : 6306801042625
Option 3 ID : 6306801042624
Option 4 ID : 6306801042623
Status : Answered
Chosen Option : 4
Q.53 If a person covers 40 km at a speed of 10 km/h on a cycle, 25 km at 5 km/h in a cart
and another 100 km at 50 km/h by car, then find his average speed for the whole
journey (in km/h).
Ans 1.13
2.1
o 3.15
4.12
Question ID : 630680137276
Option 1 ID : 630680531699
Option 2 ID : 630680531701
Option 3 ID : 630680531698
Option 4 ID : 630680531700
Status : Answered
Chosen Option : 1
Q.54 Fftpor P w3 Q FiH Aftpam R 3 GHETT 25% M3 40% TU TS| P 3 Q T HJUB UST I
Ans 1.24: 31
o 2.25:28
3.12:14
4.15:18
Question ID : 630680109219
Option 1 ID : 630680423679
Option 2 ID : 630680423678
Option 3 ID : 630680423677
Option 4 ID : 630680423676
Status : Answered
Chosen Option : 2
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Q.55 X can do a piece of work in 20 days. He worked at it for 5 days and then, Y finished it in
15 days. In how many days can X and Y together, working at half the efficiency, finish

the work?

Ans 1.15
o 2.20

3.40

4.10

Question ID : 630680153250
Option 1 ID : 630680592933
Option 2 ID : 630680592934
Option 3 ID : 630680592935
Option 4 ID : 630680592932
Status : Answered
Chosen Option : 3
Section : Mental Ability & Logical Reasoning
Q.56 In a certain code language,
F + T means ‘F is the husband of T’,
F — T means ‘F is the father of T’,
F # T means °F is the sister of T,
F @ T means ‘F is the mother of T'.
IfD@Y +E @ M, then how is D related to M?
Ans 1. Brother’s mother
2. Mother’s mother
3. Mother’s sister
w# 4. Father’s mother
Question ID : 630680227131
Option 1 ID : 630680881218
Option 2 ID : 630680881216
Option 3 ID : 630680881217
Option 4 ID : 630680881215
Status : Answered
Chosen Option : 4
Q.57 In a certain code language,
L + A means ‘L is the brother of A’,
L x A means ‘L is the sister of A’,
L — A means ‘L is the father of A’,
L $ A means ‘L is the mother of A’.
IfD$H-B+V, then how is B related to D?
Ans 1. Father
2. Father’s father
3. Son
«” 4. Son’s son
Question ID : 630680213101
Option 1 ID : 630680826451
Option 2 ID : 630680826453
Option 3 ID : 630680826452
Option 4 ID : 630680826454
Status : Answered
Chosen Option : 4
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Q.58 Seven persons P, Q, R, S, T, U and V live on different floors of the same building, which
has only seven floors. The floors are numbered 1 to 7 from the ground, respectively.
Four persons live above P in the building. V lives immediately above U in the building.
S and T live on even-numbered floors. R lives on the topmost floor of the building,
while U lives on the bottommost floor of the building.

Who lives on the 5t" floor?

Ans 1.P
2.R
o 3.Q
4.V
Question ID : 630680274617
Option 11D : 6306801066981
Option 2 ID : 6306801066982
Option 3 ID : 6306801066980
Option 4 ID : 6306801066979
Status : Answered
Chosen Option : 3
Q.59 |n a row of 108 students, Parul is 215t from the left end. What is Parul’s position from
the right end?
Ans 1 ggl
2. goth
3. 86!
4. g7t
Question ID : 630680213079
Option 11D : 630680826363
Option 2 ID : 630680826366
Option 3 ID : 630680826365
Option 4 ID : 630680826364
Status : Answered
Chosen Option : 1
Q.60 Read the given statements and conclusions carefully. Assuming that the information
given in the statements is true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusions logically follow(s) from the
statements.
Statements:Some cats are rabbits.
All jackals are cats.
All rabbits are bears.
Conclusions: I. Some bears are cats.
Il. Some cats are jackals.
Ans 1. Only conclusion Il follows.
2. Neither conclusion | nor conclusion Il follows.
3. Only conclusion | follows.
«# 4. Both conclusions | and Il follow.
Question ID : 630680113935
Option 1 ID : 630680441207
Option 2 ID : 630680441209
Option 3 ID : 630680441206
Option 4 ID : 630680441208
Status : Answered
Chosen Option : 3
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Q.61 A, B, C,D, E, F, G and H live on eight different floors of the same building. The
lowermost floor in the building is numbered 1, the floor above it, number 2 and so on
till the topmost floor is numbered 8.
A lives on floor number 7. More than three people live between A and B. More than four
people live between B and D. No one lives between B and G. Only two people live
between G and H. C lives immediately above F. E lives on one of the floors above H.
Who lives on floor number 3?

Ans 1. H
o 2. F
3.C
4. E
Question ID : 630680182063
Option 1 ID : 630680705477
Option 2 ID : 630680705475
Option 3 ID : 630680705476
Option 4 ID : 630680705474
Status : Answered
Chosen Option : 4
Q.62 Read the given information and answer the questions that follow.
Six students are sitting around a circular table facing the centre. Jaydeep is the
immediate neighbour of both, Gunjan and Kanchan. Indrani is sitting to the immediate
left of Gunjan. Lakshya is sitting third to the right of Jaydeep. Harsh is the immediate
neighbour of both, Lakshya and Kanchan.
Who is the immediate neighbour of both, Jaydeep and Indrani?
Ans 1. Lakshya
2. Harsh
3. Kanchan
«" 4. Gunjan
Question ID : 630680272762
Option 1 ID : 6306801059607
Option 2 ID : 6306801059608
Option 3 ID : 6306801059609
Option 4 ID : 6306801059610
Status : Answered
Chosen Option : 4
Q.63 What should come in place of the question mark (?) in the following alpha numeric
series?
BD3, GF8, LH13, QJ18, ?
Ans 1. VM23
o 2. VL23
3. uUL27
4. UM25
Question ID : 630680106339
Option 11D : 630680413184
Option 2 ID : 630680413185
Option 3 ID : 630680413182
Option 4 ID : 630680413183
Status : Answered
Chosen Option : 2
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Q.64 What should come in place of ‘?’ in the given series in order to make it logically

complete?

A1C, E8G, 127K, M640O, ?
Ans 1. R225T

o 2.Q125S
3.Q115S
4.R125T

Question ID : 630680159703
Option 11D : 630680618272
Option 2 ID : 630680618275
Option 3 ID : 630680618273
Option 4 ID : 630680618274
Status : Answered
Chosen Option : 2
Q.65 Six friends P, Q, R, S, T, and U, each have a different height. Only one person is shorter
than U. Only two people are taller than R. P is taller than R but shorter than S. Q is
taller than T.
Who is the shortest?
Ans o #1.T
2.R
3.Q
4.8
Question ID : 630680145907
Option 1 ID : 630680564526
Option 2 ID : 630680564528
Option 3 ID : 630680564527
Option 4 ID : 630680564529
Status : Answered
Chosen Option : 1
Q.66 Which of the following numbers will replace the question mark (?) and complete the
given number series?
4,6,12,12, 36, 24, ?
Ans 1. 432
2.240
«" 3.108
4.110
Question ID : 630680262045
Option 1 ID : 6306801017830
Option 2 ID : 6306801017829
Option 3 ID : 6306801017827
Option 4 ID : 6306801017828
Status : Answered
Chosen Option : 3
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Q.67 Seven people —L,D, V, S,Y, Kand T — are sitting in a straight line, facing north. S
and V are immediate neighbours. Only two people sit between K and T. D sits to the
immediate right of T. Y is the only neighbour to the right of L. S is not an immediate

neighbour of T.
Who is sitting at the extreme left end of the line?
Ans 1. K
2.T
3.V
4.D
Question ID : 630680186720
Option 1 ID : 630680723832
Option 2 ID : 630680723829
Option 3 ID : 630680723830
Option 4 ID : 630680723831
Status : Answered
Chosen Option : 1
Q.68 A certain number of people are sitting in a row, facing North. Only three people sit to
the left of C. Only five people sit between K and C. Only six people sit between H and
J. C sits third to the left of H. J sits third from the right end. If no other person is sitting
in the row, then what is the total number of people seated?
Ans 1.18
o 2.16
3.19
4.14
Question ID : 630680216664
Option 1 ID : 630680840619
Option 2 ID : 630680840620
Option 3 ID : 630680840621
Option 4 ID : 630680840622
Status : Answered
Chosen Option : 2
Q.69 Select the combination of letters that when sequentially placed in the blanks of the
given series will complete the series.
JK_NO_QS_UVXY_AC
Ans 1. KQvz
o 2.LPTZ
3. MPTC
4. ORWX
Question ID : 630680180824
Option 1 1D : 630680700738
Option 2 ID : 630680700736
Option 3 ID : 630680700737
Option 4 ID : 630680700739
Status : Answered
Chosen Option : 2
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Q.70 A, B, C, X, Y and Z live on six different floors of the same building. The lowermost floor
in the building is numbered 1, the floor above it, number 2 and so on till the topmost
floor is numbered 6.
A lives on floor number 4. Only two people live between A and Z. Only X lives between
A and C. B lives immediately below A.
Who lives on floor number 2?

Ans 1.C
o 2.Y
3.B
4.7
Question ID : 630680180435
Option 1 ID : 630680699415
Option 2 ID : 630680699412
Option 3 ID : 630680699414
Option 4 ID : 630680699413
Status : Answered
Chosen Option : 3
Q.71 Which of the following terms will replace the question mark (?) in the given alpha-
numeric series?
K24, M21, L18, N15, ?, 09, N6, P3
Ans 1. P12
2. M14
& 3. M12
4.112
Question ID : 630680157493
Option 1 ID : 630680609502
Option 2 ID : 630680609500
Option 3 ID : 630680609501
Option 4 ID : 630680609503
Status : Answered
Chosen Option : 1
Q.72 L, M, N, P, Q and R live on six different floors of the same building. The lowermost floor
in the building is numbered 1, the floor above it is number 2 and so on till the topmost
floor, which is numbered 6.
Only two people live between L and N. L lives on the floor numbered 4. R lives on an
odd numbered floor but not on floor number 3. M lives immediately above P.
How many people live above M?
Ans  # 1. Three
2. Four
3. Two
4. One
Question ID : 630680175953
Option 1 ID : 630680682062
Option 2 ID : 630680682063
Option 3 ID : 630680682061
Option 4 ID : 630680682060
Status : Answered
Chosen Option : 2
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Q.73 Three statements are given, followed by three conclusions numbered 1, 2 and 3.
Assuming the statements to be true, even if they seem to be at variance with
commonly known facts, decide which of the conclusions logically follow(s) from the
statements.

Statements:

1. All rice are breads.

2. Some wheat are rice.

3. All grains are wheat.
Conclusions:

1. All grains are breads.

2. Some grains are breads.
3. Some breads are wheat.

Ans  «# 1. Only conclusion 3 follows
2. Only conclusions 1 and 2 follow
3. Only conclusion 1 follows

4. Only conclusion 2 follows

Question ID : 630680172719
Option 11D : 630680669278
Option 2 ID : 630680669279
Option 3 ID : 630680669276
Option 4 ID : 630680669277
Status : Answered
Chosen Option : 2
Q.74 sudeep is standing 17t from the right end in a row of people facing north. Dileep is
standing 6" from the left end. Sudheer stands exactly between Sudeep and Dileep. If
Sudheer is 10" from the left end, how many people are there in the row?
Ans 1.29
2.31
3.32
o 4.30
Question ID : 630680187223
Option 1 ID : 630680725842
Option 2 ID : 630680725844
Option 3 ID : 630680725841
Option 4 ID : 630680725843
Status : Answered
Chosen Option : 3
Q.75 |n a row of 106 students, P is 16" from the left end and Z is 30" from the right end.
Find the total number of people between P and Z.
Ans 1. 66
2.62
3.64
o 4.60
Question ID : 630680262354
Option 11D : 6306801019058
Option 2 ID : 6306801019056
Option 3 ID : 6306801019057
Option 4 ID : 6306801019055
Status : Answered
Chosen Option : 2

Section : English Language Skills and Punjabi Language Skills
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Q.76 Sentences of a paragraph are given below in jumbled order. Select the option that

arranges the sentences in the correct order to form a meaningful and coherent

paragraph.
A. Hospital medication had failed to cure him.

B. The author had been suffering from acute abdominal pain for a long time.

C. Egya Mensa gave the author some decoction made from the leaves and bark of a

tree.

D. Having lost all hope from hospital medication, the author’s mother took him to Egya

Mensa, a well-known herbalist.

Ans 1.C,A,D,B
2.D,C,A/B
«" 3.B,A,D,C
4.A,B,C,D
Question ID : 630680168499
Option 1 ID : 630680652610
Option 2 ID : 630680652609
Option 3 ID : 630680652611
Option 4 ID : 630680652608
Status : Answered
Chosen Option : 3
Q.77 Select the most appropriate adverbs to fill in the blanks.
The carpenter worked to repair the broken bed and was rewarded
for his efforts.
Ans  # 1. hard, appropriately
2. adoringly, noisily
3. frequently, diligently
4. daily, insanely
Question ID : 630680166980
Option 1 ID : 630680646782
Option 2 ID : 630680646780
Option 3 ID : 630680646781
Option 4 ID : 630680646783
Status : Answered
Chosen Option : 1
Q.78 Select the most appropriate synonym of the word in brackets to fill in the blank.
The river was flowing . (placidly)
Ans 1. dolefully
2. perfectly
o 3. calmly
4. tempestuously
Question ID : 630680168483
Option 1 ID : 630680652544
Option 2 ID : 630680652547
Option 3 ID : 630680652545
Option 4 ID : 630680652546
Status : Answered
Chosen Option : 2
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Q.79 The given sentence is divided into four segments. Select the option that has the
segment with a grammatical error.
He promised / to come / but has not / turned out yet.

Ans  «# 1. turned out yet.
2. he promised
3. but has not

4.to come

Question ID : 630680192407
Option 1 ID : 630680746220
Option 2 ID : 630680746217
Option 3 ID : 630680746219
Option 4 ID : 630680746218
Status : Answered
Chosen Option : 4
Q.80 “g3fyBTe” HYE T WK METE I:
Ans 1. Opposition
2. Affection
3. Status
w” 4. Contrary
Question ID : 630680317658
Option 1 ID : 6306801235733
Option 2 ID : 6306801235735
Option 3 ID : 6306801235736
Option 4 ID : 6306801235734
Status : Answered
Chosen Option : 1
Q.81 Parts of a sentence are given below in jumbled order. Arrange the parts in the correct
order to form a meaningful sentence. The first segment is fixed.
As soon as the storm started,...
(P) lightning and thunder
(Q) inside the house and
(R) huddled together
(S) the children ran
(T) in the living room, afraid of the
Ans 1. PQRTS
w" 2. SQRTP
3. TPQSR
4. QSPTR
Question ID : 630680212998
Option 1 ID : 630680826082
Option 2 ID : 630680826080
Option 3 ID : 630680826081
Option 4 ID : 630680826079
Status : Answered
Chosen Option : 2
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Q.82 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.
The French / defeated Germans / in the / football match.

Ans 1. football match
2.in the
3. The French

4" 4. defeated Germans

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680154505
630680597843
630680597842
630680597840
630680597841
Answered

4

Comprehension:

Read the given passage and answer the questions that follow.

The city of the great kings of Persia, which is now Iran, was Persepolis. It took approximately
fifty years to construct and was established by King Darius around 500 BC. Around here, high
up in the mountains of southwest Iran, the Persians constructed royal residences and burial
places. What's more, it was here that plans were made to attack Greece and overcome the
grounds around the eastern Mediterranean.

In 480 BC, the Greeks defeated the Persians, who attacked and robbed Athens. After 150
years, Alexander the Great, the Greek king, destroyed Persepolis. Today, its impressive ruins
remain.

From 522 to 486 BC, Persia was ruled by King Darius. He reorganised the operation of the
empire, established trade links, and constructed roads. Later, he went to war with Greece, but
the Persians lost the invasion at the Battle of Marathon in 490 BC.

Persian gold was well known. Herodotus, a Greek historian, wrote that Persian soldiers wore
a lot of gold jewellery and that the king's subjects gave him gold as gifts. This four-horse
chariot made of gold was probably given to the gods as a gift.

SubQuestion No : 83
Q.83 Based on the reading of the passage, select the INCORRECT statement.

Ans 1. The Greeks defeated the Persians.
" 2. King Darius did not rule Persia.
3. The four horse chariot was made of gold.

4. Persepolis is present day Iran.

Option 2 ID

Question ID :
Option 11D :

630680209369
630680811678

: 630680811677
Option 31D :
Option 4 ID :

Status :

Chosen Option :

630680811676
630680811675
Answered

4
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Comprehension:

Read the given passage and answer the questions that follow.

The city of the great kings of Persia, which is now Iran, was Persepolis. It took approximately
fifty years to construct and was established by King Darius around 500 BC. Around here, high
up in the mountains of southwest Iran, the Persians constructed royal residences and burial
places. What's more, it was here that plans were made to attack Greece and overcome the
grounds around the eastern Mediterranean.

In 480 BC, the Greeks defeated the Persians, who attacked and robbed Athens. After 150
years, Alexander the Great, the Greek king, destroyed Persepolis. Today, its impressive ruins
remain.

From 522 to 486 BC, Persia was ruled by King Darius. He reorganised the operation of the
empire, established trade links, and constructed roads. Later, he went to war with Greece, but
the Persians lost the invasion at the Battle of Marathon in 490 BC.

Persian gold was well known. Herodotus, a Greek historian, wrote that Persian soldiers wore
a lot of gold jewellery and that the king's subjects gave him gold as gifts. This four-horse
chariot made of gold was probably given to the gods as a gift.

SubQuestion No : 84

Q.84 When did Battle of Marathon take place?

Ans 1.486 BC
2.480BC
" 3.490BC
4.522 BC
Question ID : 630680209368
Option 1 ID : 630680811673
Option 2 ID : 630680811672
Option 3 ID : 630680811671
Option 4 ID : 630680811674
Status : Answered
Chosen Option : 3
Comprehension:
Read the given passage and answer the questions that follow.
The city of the great kings of Persia, which is now Iran, was Persepolis. It took approximately
fifty years to construct and was established by King Darius around 500 BC. Around here, high
up in the mountains of southwest Iran, the Persians constructed royal residences and burial
places. What's more, it was here that plans were made to attack Greece and overcome the
grounds around the eastern Mediterranean.
In 480 BC, the Greeks defeated the Persians, who attacked and robbed Athens. After 150
years, Alexander the Great, the Greek king, destroyed Persepolis. Today, its impressive ruins
remain.
From 522 to 486 BC, Persia was ruled by King Darius. He reorganised the operation of the
empire, established trade links, and constructed roads. Later, he went to war with Greece, but
the Persians lost the invasion at the Battle of Marathon in 490 BC.
Persian gold was well known. Herodotus, a Greek historian, wrote that Persian soldiers wore
a lot of gold jewellery and that the king's subjects gave him gold as gifts. This four-horse
chariot made of gold was probably given to the gods as a gift.
SubQuestion No : 85
Q.85 Who was Herodotus?
Ans 1. Aking
2. A mountaineer
" 3. Ahistorian
4. A warrior
Question ID : 630680209367
Option 1 ID : 630680811667
Option 2 ID : 630680811669
Option 3 ID : 630680811668
Option 4 ID : 630680811670
Status : Answered
Chosen Option : 3
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Q.86 €31 A, W <ur, . Tadl, g BE « e few yEl €3 Aus e Adt

feasuge:
Ans 1. HJ'&
2. 9at
" 3. 54T
4. 33
Question ID : 630680317662
Option 1 ID : 6306801235752
Option 2 ID : 6306801235750
Option 3 ID : 6306801235751
Option 4 ID : 6306801235749
Status : Answered
Chosen Option : 3
Q.87 I3 fafipr feg faazr mae 38z o feydizgua mae &1 3:
Ans 1. Y
o 2. MAUTHS
3. 9168
4. JT&T
Question ID : 630680317660
Option 1 ID : 6306801235742
Option 2 ID : 6306801235744
Option 3 ID : 6306801235743
Option 4 ID : 6306801235741
Status : Answered
Chosen Option : 2
Q.88 | came to you like an uninvited guest’ T T1 HJl YAt wgee 3:
Ans 1.1 3913 I8 fast g8 HiTs = »rer Ii
2. 1 373 % fast g8 HigHs <iar wifen i
3. 7 3T13 oot g8 HigHTs <ia1 wifen Ti|
4. W 3773 I8 o g8 HigHTs Sga »irfenT |
Question ID : 630680317663
Option 1 ID : 6306801235754
Option 2 ID : 6306801235755
Option 3 ID : 6306801235756
Option 4 ID : 6306801235753
Status : Answered
Chosen Option : 2
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Q.89 ‘The martyrdom of 9th guru is the most important event in Sikh History.” @/ €1 Adl

Uaret wige= J:

Ans 1. 92 J1d <t Hae3 ity fef3gm o1 A8 3 HI3eYI® afgers J|
2. 9< 1g Tt mave3 ity fefzam & 78 3 HI3<yds gaual I

o 3. 9< I1g <t mares iy fef3am & As 3 HI3eyds wewT J|

4. 92 gig & HIe3 iy fef3om & 78 3 HJI3eyas wea H

Question ID : 630680317664
Option 11D : 6306801235760
Option 2 ID : 6306801235759
Option 3 ID : 6306801235757
Option 4 ID : 6306801235758
Status : Answered
Chosen Option : 2
Q.90 I3 B feamyi fed Hu AEe @ 9= 931
Ans 1. U39
& 2. UT-qT&
3. Ufgdr-gga&T
4. Ufga-agaT
Question ID : 630680317659
Option 1 1D : 6306801235740
Option 2 ID : 6306801235739
Option 3 ID : 6306801235737
Option 4 ID : 6306801235738
Status : Answered
Chosen Option : 1
Q.91 Fdl T2 Y@ Hared <gfIu AiwT I
Ans 1. IR II&
o 2. THdg Ji%T 9131 51 HigaT
3. 976 ddd Had AT
4. Yy-J&Tyga
Question ID : 630680317661
Option 11D : 6306801235747
Option 2 ID : 6306801235748
Option 3 ID : 6306801235746
Option 4 ID : 6306801235745
Status : Answered
Chosen Option : 2
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Q.92 gA-gA €1 Y5 9t Jer T3 vg3 Huei S wi fea mEe &

Ans

o 1. THHE
2. JHES THT
3. JAYS
4. AT
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID
Status :
Chosen Option :

630680317665

6306801235762
6306801235761
6306801235764

1 6306801235763

Answered
1

Q.93

Ans

Comprehension:

et 2 H A & gmndt § 393 © fef3gm ° I foat o mfent Ater I ug for vt ® w1
I3 UArg 3§91 § I Jfen 84 fegi a8 fowt €3 I3 It 8y 296 © 3% J1 9951 Qu-
Haey feg fog fea wiffdt wesr 3 7 75 Arst g & fed © ot o wret feg €2 A afen 9
3 3Tt Tat 39 It | 393 feg At 3 T S TaHT »13 nidlifenti ® 81 Ifd I & 13
28 Sydntt It SR TS W13 Al A fegt at <t urte3 It I fog <I3ar Hebai 3
9 (901 7l A &8 W31 &t I fon fomr feg wat 3¢t /| < fa 97931 &t © Ifae Afge
feg feamrgar st /i ug fegt & fizd freq Hed &8 wirarel €t Hdl B3 w3 99376 AHI™H
i Hielld’ § dee feg amHurd! Ifas St ug fer Ha's w3 A Yt 2 o8 dt ends =
foq g < A3 Hitgmt 3 B a3 fa <8 3793 © wufed faf3am feg I adt Adl mieh
Ta R fef3am o foq gmfea wiftmnfe g fami feg fef3ama weat des fmmt 33 3
UTTA3TS T 7A6H 3 I A3 &d 34t Adl B 971 Bt 57 ferrqu3 & wesr &

SubQuestion No : 93
U9 Ju 3 o6 <3 § ot Afarr fEt 32
1. MISTIHA
2. 9389193 T HAI
3. frmt €3
o 4. IS Tafi df TS WeaT

Option 4 ID

Question ID :
Option 11D :
Option 2 ID :
Option 31D :

630680317668

6306801235772
6306801235769
6306801235771

: 6306801235770
Status :
Chosen Option :

Answered
2
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Q.94

Ans

Comprehension:

I T H A < IEndt § 3793 © fef3am © T feat e Afent 7w I ug fer vt ® 518 |
3 0 3 5918 § IiHE Ifenn G fogl 18 fest €3 99 I 8y 396 © 3% J1 99 G-
HaY feg fog feq wiffdt wee 3 7 75 At gme <t fog © 3 Thff wiet feg @t afen 3
3 T TS 3 I | II3 feg FEt 3 Y 9 TIHT »i3 widifent © B Ifg IJ Ia »3
23 Fudhvii e 9% Io w3 AiPTaad A fogt St & yEE 30 9| feg =93 HE 3
98 faar 7t fin 18 Hiees <t seat fon fem feg wat It 7t < fq 3793t Bt ® Ifge Afae
feg feqrazr &di 7t ug fegt & fHga firea Hed a7 »art € /a1 S »i3 99376 AHdH
i Hiefldt § dee feg amHurdt grfas it ua for Has w3 I Yyt 2 o8 dfends =
fog g8 < 73 Hiemit 3 ar foF {9 I8 3793 © wiafea fef3am feg & adf w7t midt
TEMT = fofzam w fea gmfea wiftmnfe g fam feg fefsama wewst A= it 333
YTTH3TS © AaH 3 It 73 &dt 3d! Al B4t A3 Bt &8 ferrawms & west & H

SubQuestion No : 94
s W T I3y
1. 21 < wiered

2. Ag 3 €18 < niat
3. UfIA3Ts T A6H
o 4. THEI T I8

Option 2 ID

Question ID :
Option 11D :

630680317667
6306801235765

: 6306801235766
Option 31D :
Option 4 ID :

Status :

Chosen Option :

6306801235768
6306801235767
Answered

4

Q.95

Ans

Comprehension:

AL T H S < Jen § 9793 © fef3am ® 8 foat = et Aier I ud fer wiar ® a1s 1
g3 0 3 598 § s Ifenn G fogi 13 fest €3 99 751 sy 296 © 3% J1 99t Gu-
HIE feg fog fod wifadt wes I 1 75 At amie 2 fol = B Ohif wet feg 82 A arfen 3
3 T TEM 3 I | I93 feg FEt 3 Y 0 TIHT w13 idifen © B Ifd IJ Ia »3
2 Suhoit IR VSR T i3 AigwaTad B foat Sat o yFbi3 It J1 feg <93 Fe 3
98 fgar /it fan &8 Hise3T <t ses for femr feg Wt 9t 7/ 3 fa 993t &4t © Ifge Afde
feg feaqrazr &di 7t ug fegt & HEA firea Hed a7 »iard €t Hd1 I3 »i3 99376 AHaH
it Aeflat § dee feg gt ofHs i3t ud for Hats w3 afs Yyt € a8 dtends =
foq g8 < 73 Hiewit 3 ar foF {9 I 3793 ® wiafea fef3am feg & adf 7al mist
Tami R fef3am © foq gmfea wiftmnfe g fap| feg fef3ama wear des fmmt 33 3
YTTH3TS ® AGH 39 I 7H3 &t Idt AT J4i F931 Bt &% feraurs & wesT <t |

SubQuestion No : 95
T3S 99T B FE A I?
o 1. feaqur3
2. yArg €1 <3
3. T T e
4. &< OH < HEUE

Option 4 ID

Question ID :
Option 11D :
Option 21D :
Option 31D :
: 6306801235774

Status :
Chosen Option :

630680317669

6306801235776
6306801235773
6306801235775

Answered
1



https://dailyjobalert.in/

Q.96 The default layout when you click the New slide button in MS-PowerPoint 2019 is

Ans  # 1. Title and Content
2. Blank
3. Two Content

4. Title Slide

Question ID : 630680317672
Option 1 ID : 6306801235787
Option 2 ID : 6306801235785
Option 3 ID : 6306801235786
Option 4 ID : 6306801235788
Status : Answered
Chosen Option : 4
Q.97 The most recent version of MS-PowerPoint for Microsoft Windows is
Ans 1. PowerPoint 2022
2. PowerPoint 2019
3. PowerPoint 2020
" 4. PowerPoint 2021
Question ID : 630680317673
Option 1 ID : 6306801235792
Option 2 ID : 6306801235789
Option 3 ID : 6306801235790
Option 4 ID : 6306801235791
Status : Answered
Chosen Option : 2
Q.98 In MS-Word 2019, a indent, the first line of the paragraph begins from the
margin, and subsequent lines are indented.
Ans 1. First line
«” 2. Hanging
3. Right
4. Left
Question ID : 630680317671
Option 1 ID : 6306801235781
Option 2 ID : 6306801235782
Option 3 ID : 6306801235784
Option 4 ID : 6306801235783
Status : Answered
Chosen Option : 4
Q.99 Apple launched a web browser in the year and named it as
Ans  # 1.2003, Safari
2. 2002, Firefox
3. 1995, Safari
4. 1994, Internet Explorer
Question ID : 630680317674
Option 1 ID : 6306801235793
Option 2 ID : 6306801235795
Option 3 ID : 6306801235794
Option 4 ID : 6306801235796
Status : Answered
Chosen Option : 1



https://dailyjobalert.in/

Q.100 Which among the following is a volatile memory?
Ans 1. Hard disk

w” 2. Cache
3. ROM
4. USB storage

Question ID : 630680317670
Option 1 ID : 6306801235778
Option 2 ID : 6306801235777
Option 3 ID : 6306801235779
Option 4 ID : 6306801235780
Status : Answered
Chosen Option : 3
Section : Qualifying Paper of Punjabi Language
Q1 It fod »igrdeht Haet R Yardt wigere w fagzr de Adt &di 32
Ans 1. Rich- »iHlg
2. Race- ©3
3. Book- fq3m™
o 4. Profit- otH3t
Question ID : 630680317712
Option 1 ID : 6306801235946
Option 2 ID : 6306801235947
Option 3 ID : 6306801235945
Option 4 ID : 6306801235948
Status : Answered
Chosen Option : 4
Q.2 wfrrua @ Ifa3 § faar fa Ta3 afdfent Har wifgw 7 AaeT 3, gudazTad
YJ' I96 B Jot {30 miyret fed ga mure g
Ans 1. 918 <t I3t 29 @9 & 93
2. TUT AP B § A ga-ga Uierd
3. foq I8 &% 313t &t <ret
o 4. 38 991 T I8 g9 & feaifan
Question ID : 630680317681
Option 1 ID : 6306801235823
Option 2 ID : 6306801235824
Option 3 ID : 6306801235821
Option 4 ID : 6306801235822
Status : Answered
Chosen Option : 4
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Q.3 fafgnr fenme St flastart famii T2
Ans .z 1 95

2.4

3.H3

4.8

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680317692
6306801235868
6306801235865
6306801235867
6306801235866
Answered

1

Q.4 I fafipri fed faa=r AEE trial © YA€l wigee 97
Ans 1. Ha<

2. Jife3
o 3. HATH
4. <Jg
Question ID : 630680317709
Option 1 ID : 6306801235934
Option 2 ID : 6306801235936
Option 3 ID : 6306801235933
Option 4 ID : 6306801235935
Status : Answered
Chosen Option : 4
Q.5 I3 fefi fed feninst  Adl de g
Ans o 1.9,Y,dl
2.8, A9
3.8, ¢®
4.8,3, %
Question ID : 630680317719
Option 1 ID : 6306801235976
Option 2 ID : 6306801235973
Option 3 ID : 6306801235975
Option 4 ID : 6306801235974
Status : Answered
Chosen Option : 3
Q.6 I3 fBfi fed fagdt Uert U (uifan3rs) €t Qusmr 372
Ans 1. e}
& 2. Udardt
3. M
4. HE <
Question ID : 630680317721
Option 1 ID : 6306801235983
Option 2 ID : 6306801235984
Option 3 ID : 6306801235982
Option 4 ID : 6306801235981
Status : Answered
Chosen Option : 2
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Q7 HIH M3 TIC HET &8 fan fug39 €t <33 I Ha<l I

Ans 1. A
2.5
3.T%
4. Tfeq
Question ID : 630680317696
Option 1 ID : 6306801235883
Option 2 ID : 6306801235882
Option 3 ID : 6306801235884
Option 4 ID : 6306801235881
Status : Answered
Chosen Option : 2
Q.8 I fufim fed faadt fenme <t fami wdt 32
Ans 1. JETFH
& 2. IHIS9d
3. UfgHreagd
4. Afpegd
Question ID : 630680317687
Option 1 ID : 6306801235846
Option 2 ID : 6306801235845
Option 3 ID : 6306801235848
Option 4 ID : 6306801235847
Status : Answered
Chosen Option : 3
Q9 feg fifu d I1d a7ad B 7t § Ufen uzaTg A w71 31 39 Uge IF Ud Ha § At &t
izt
Budas T § At femani {93 = 3 fa< fafip wrar?
Ans 1. o Ty 3 30 e T i & Ufenn, “usmarg, o g1t 3t 39 Uger If Ug v § Jit &t
fHa
2. foa fif 3 91 a1ad T it § Ufent, usmmg W 91t 31 37 UZe If Ua He § At adt
et
3. foat ity & I a'aa o< i & Ufent Ur3Hrg H 91t 31 37 UFe It Ud ¥ § Tt adt
et
4. fea fitd & g oo T 7t § e uswg, <N 91t 3t 37 uger If Ud Ha & TiEt &t
fHet
Question ID : 630680317704
Option 1 ID : 6306801235913
Option 2 ID : 6306801235914
Option 3 ID : 6306801235915
Option 4 ID : 6306801235916
Status : Answered
Chosen Option : 1
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Q.10 I fafumi fed faaar feaara’ o ANTaTIEa WEE &dl 32
Ans 1. Sfewr

Chosen Option :

o 2. fHHcag
3. 9%
4. 398
Question ID : 630680317675
Option 1 ID : 6306801235800
Option 2 ID : 6306801235799
Option 3 ID : 6306801235797
Option 4 ID : 6306801235798
Status : Answered
Chosen Option : 2
Q.11 56 § Uardt feg fa< fafim aean?
Ans 1. fenrae
2. 83
o 3. 88U
4. fenrst
Question ID : 630680317714
Option 1 ID : 6306801235954
Option 2 ID : 6306801235953
Option 3 ID : 6306801235956
Option 4 ID : 6306801235955
Status : Answered
Chosen Option : 3
Q.12 I fafumi fed faaz i ‘Baryar 78 Heu3z 972
Ans 1. frgrdt, fd, S
2. &1, Ha3T, fadt
3. 0fUd, &, IF
o 4. T8, fadt, »fux
Question ID : 630680317723
Option 1 ID : 6306801235989
Option 2 ID : 6306801235990
Option 3 ID : 6306801235992
Option 4 ID : 6306801235991
Status : Answered
Chosen Option : 4
Q.13 I35 fafun fed faal = feg Aana fafanr € =33 &dt dut?
Ans 1. 35T wyEd Ug fgar 1
2. 15t guU3 feg saGemi I& |
3. 99 Y3a1 8313 I&|
4. 33 Hig =g faar 3|
Question ID : 630680317690
Option 1 ID : 6306801235857
Option 2 ID : 6306801235859
Option 3 ID : 6306801235860
Option 4 ID : 6306801235858
Status : Answered

2
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Q.14 I3 By e fed I3t ok e fe fagzr 32
Ans 1.3,89,%

& 2.U39
3.9, 8,
4.2,6,3
Question ID : 630680317720
Option 1 ID : 6306801235979
Option 2 ID : 6306801235980
Option 3 ID : 6306801235977
Option 4 ID : 6306801235978
Status : Answered
Chosen Option : 2
Q.15 2 7 T g HdteT faazr 2
Ans g1 fermy
2.7H
3.93
4. 33
Question ID : 630680317715
Option 1 ID : 6306801235957
Option 2 ID : 6306801235958
Option 3 ID : 6306801235960
Option 4 ID : 6306801235959
Status : Answered
Chosen Option : 1
Q.16 fFdt ut d=2<t JI
Budas @ra v Tus gEse 3 fagz e gdan?
Ans 1. foe Wbt T3t T& 1
2. gt Uit Tz<ort Ia |
& 3. fohot Wdhit Tl T
4. fdar Uz T3w |
Question ID : 630680317699
Option 1 ID : 6306801235895
Option 2 ID : 6306801235893
Option 3 ID : 6306801235896
Option 4 ID : 6306801235894
Status : Answered
Chosen Option : 3
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Q.17 YyTIESYd &< &8 RYU3 faax d< At 972
Ans g1 ¥0 UEl 3B

2. 9f&3T, IHTT, €U

3. IHdT, U, gt

4. €4, wideH, YfSH

Question ID :
Option 11D :
Option 2 ID :

Option 3 ID

Option 4 ID :
Status :
Chosen Option :

630680317684
6306801235836
6306801235833
: 6306801235835
6306801235834
Answered

1

Q.18 FiT € gl =93 e < Huet § ot fagr e d?
Ans 1. fafanr

2. feame
o 3. U35
4. Jd1gdq
Question ID : 630680317685
Option 1 ID : 6306801235839
Option 2 ID : 6306801235838
Option 3 ID : 6306801235837
Option 4 ID : 6306801235840
Status : Answered
Chosen Option : 3
Q.19 T »AI3d B Al HEE de € UsTE JAa:
Ans 1. IHES, THTT
2. IHAJE, THE
o 3. I, IHES
4. HPHIS, THTE
Question ID : 630680317695
Option 1 ID : 6306801235878
Option 2 ID : 6306801235880
Option 3 ID : 6306801235877
Option 4 ID : 6306801235879
Status : Answered
Chosen Option : 3
Q.20 3 § feue ool faa fdat <t =33 didt Al 9, 8%t & ot faar AT 372
Ans 1. g&t
2. T9H
« 3. 18U
4. g
Question ID : 630680317724
Option 1 ID : 6306801235994
Option 2 ID : 6306801235996
Option 3 ID : 6306801235993
Option 4 ID : 6306801235995
Status : Answered
Chosen Option : 3
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Q.21 J& fau =gt fed Ag 3 gaei T v

Ans p 1. BA3 fqa fa »in 3 gme 8 fra I3t T ot dodr|
2. BA 3 fagr fa B wara fog gras 3t win 3 gmie &t 39T
3. 8 3 fagr fa Qg feg ars 3t gargr »iA 3 gmie &t 9dan|
4. B 3 fqar {9 feg grs 3t BT Tarar &t Sdar »in 3 amr|

Question ID : 630680317708
Option 11D : 6306801235931
Option 2 ID : 6306801235929
Option 3 ID : 6306801235932
Option 4 ID : 6306801235930
Status : Answered
Chosen Option : 1
Q.22 Jg Q3 JaUI A Y5 Ho=ad Il I I?
Ans g1 feg® gfga
2. Gemfdz d=&
3. A3 HI®3 93&T
4. IHfeg I¥ I
Question ID : 630680317679
Option 1 1D : 6306801235813
Option 2 ID : 6306801235816
Option 3 ID : 6306801235815
Option 4 ID : 6306801235814
Status : Answered
Chosen Option : 1
Q.23 grg fump AT ... 2T iy ATSTR
Budas Ta § YT I9% BEl I6 Bitmt fed faga waa =afzm Aan?
Ans 1.4Yd
2.3
3.1
4. 5%
Question ID : 630680317693
Option 1 1D : 6306801235870
Option 2 ID : 6306801235869
Option 3 ID : 6306801235871
Option 4 ID : 6306801235872
Status : Answered
Chosen Option : 3
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Q.24 gl FGS I35 BEl fIaI Hared =3f3n Aer 32
Ans g1 di5iiaa

2. I3 U g3
3. i G3 AT
4. B3 HE gea
Question ID : 630680317677
Option 1 1D : 6306801235806
Option 2 ID : 6306801235808
Option 3 ID : 6306801235805
Option 4 ID : 6306801235807
Status : Answered
Chosen Option : 4
Q.25 YZ 7Ee »3 fugsa S usT aa:
Ans 1. W3- HS HEE, HIS- fug3d
2. HaH- ¥ Hoe, 98- fug3d
3. HaH'- Y& Hee, 98- fug3d
o 4. HIH- HS HEe, »idS- fug3d
Question ID : 630680317698
Option 11D : 6306801235889
Option 2 ID : 6306801235891
Option 3 ID : 6306801235890
Option 4 ID : 6306801235892
Status : Answered
Chosen Option : 4
Q.26 Tfgur weT § aie € faadt fam feg It w AgET 92
Ans gz 1 WH &
2. AYJ<dd &1
3. Y'dEdd 3
4. YTH &1
Question ID : 630680317682
Option 1 1D : 6306801235825
Option 2 ID : 6306801235828
Option 3 ID : 6306801235827
Option 4 ID : 6306801235826
Status : Answered
Chosen Option : 1
Q.27 ‘Spring season’ § UnTet feg st fagr Aiwr 32
Ans 1. U393 d3
& 2. 93 d3
3.2 g3
4.3191 d3
Question ID : 630680317710
Option 1 1D : 6306801235938
Option 2 ID : 6306801235940
Option 3 ID : 6306801235937
Option 4 ID : 6306801235939
Status : Answered

Chosen Option :

1
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Q.28 yg& fea § yare@< wel fags femam fig € =a3 gt 97

Chosen Option :

Ans 1. yms g (2)
2. M1 ()
3. fenfia fdg ()
o 4.331(1)
Question ID : 630680317702
Option 1 1D : 6306801235908
Option 2 ID : 6306801235907
Option 3 ID : 6306801235906
Option 4 ID : 6306801235905
Status : Answered
Chosen Option : 4
Q.29 A3 fega feg A I @ Wa 3T T <8t »iegn I § ot fagr AeT I?
Ans 1. QU T
2. 93dt I
o 3. TIHIZ T
4. et gy
Question ID : 630680317718
Option 1 1D : 6306801235972
Option 2 ID : 6306801235971
Option 3 ID : 6306801235970
Option 4 ID : 6306801235969
Status : Answered
Chosen Option : 3
Q.30 QA 3 IIIH-IIGH It ure €t wire3 J| Quda3 = few fam fenme & <93 I€t I?
Ans 1. Aitpyead fenme
o 2. IS fenne
3. forgeaa fenme
4. Y& fenme
Question ID : 630680317688
Option 1 ID : 6306801235849
Option 2 ID : 6306801235852
Option 3 ID : 6306801235850
Option 4 ID : 6306801235851
Status : Answered
Chosen Option : 2
Q.31 WEEy HET feg TI3 HS HEE M3 MII3d € Us'E Ja:
Ans 1. M- »d13d, 5€d- HS HEe
o 2. M&- ndI3d, MEd- HS HEe
3. WEE- MJI3d, Md- HS HEe
4. M&T- MJI3d, TI- S HEE
Question ID : 630680317694
Option 1 ID : 6306801235873
Option 2 ID : 6306801235875
Option 3 ID : 6306801235876
Option 4 ID : 6306801235874
Status : Answered

2
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Q.32 I3 fBy =i fed 79 3 ga=i T g
Ans 1. I 98 nfed qe grgd ALt fgar H|
& 2. B 9% »ivg 9 grgd »iA faar At
3. BT 9799 9 »iwd 9w fagr A
4. BJ I I "Tad vied w1 fagr il

Chosen Option :

Question ID : 630680317707
Option 1 1D : 6306801235927
Option 2 ID : 6306801235925
Option 3 ID : 6306801235926
Option 4 ID : 6306801235928
Status : Answered
Chosen Option : 2
Q.33 €9 I disg o R I& | Quda3 @ feg fenme <t ugTe 9o
Ans 1. 89 BN J13g
R
& 3.8980
4. 30
Question ID : 630680317689
Option 1 1D : 6306801235856
Option 2 ID : 6306801235853
Option 3 ID : 6306801235855
Option 4 ID : 6306801235854
Status : Answered
Chosen Option : 3
Q.34 Yyt QU w1% Heu3 fafgui e faazr g Adt 32
Ans 1. B, gf&3T, ediTae
o 2. Afagae w3 iy &d19, duz, ef3garg Afas
3. IYIEST, MH3AG, JITHYI
4. 7%, IpATIYd, IYIESBT
Question ID : 630680317722
Option 1 ID : 6306801235985
Option 2 ID : 6306801235988
Option 3 ID : 6306801235987
Option 4 ID : 6306801235986
Status : Answered
Chosen Option : 2
Q.35 I3 {8y i fed fan = »ivd famded uzaie € <93 J8 J2
Ans 1. 1 Idar A Fadr|
2. fAgzr vz 308 % fifewn 7, @a N Iar Ji
3. I Ags T Ee33 I
4. A W@ U ») T J|
Question ID : 630680317686
Option 1 1D : 6306801235841
Option 2 ID : 6306801235844
Option 3 ID : 6306801235842
Option 4 ID : 6306801235843
Status : Answered

1
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Q.36 I3 fBfmi fed faaR HEe ¥ o8 < fug3g ¥t Ta3 d&t 37
Ans 1. HY, WIS

o 2.5, 7
3. J6d, 7H
4.TJ<, 9%
Question ID : 630680317697
Option 1 ID : 6306801235885
Option 2 ID : 6306801235888
Option 3 ID : 6306801235886
Option 4 ID : 6306801235887
Status : Answered
Chosen Option : 2
Q.37 Hf&gaerg, ........ ,AHET,
yt i feg aa.@ 2 foni dt mﬂ IgHE 9
Ans g 1 nZed Hamed
2. Har®erg, W3eg
3. Ha®eg, Afdgded
4. W3<9, dded
Question ID : 630680317717
Option 1 1D : 6306801235966
Option 2 ID : 6306801235965
Option 3 ID : 6306801235968
Option 4 ID : 6306801235967
Status : Answered
Chosen Option : 1
Q.38 aycerdt Aye v fonadl fdar <t d_ar?
Ans 1. UYITIE
o 2. UITI5
3. Ye<dal
4, yeI gl
Question ID : 630680317701
Option 1 ID : 6306801235904
Option 2 ID : 6306801235903
Option 3 ID : 6306801235901
Option 4 ID : 6306801235902
Status : Answered

Chosen Option :

1
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Q.39 I fafumi fed g v feddl wae g&:

Ans 1. HaT
2. Hed
3. 5aH
o 4. i
Question ID : 630680317676
Option 1 1D : 6306801235804
Option 2 ID : 6306801235801
Option 3 ID : 6306801235803
Option 4 1D : 6306801235802
Status : Answered
Chosen Option : 4
Q.40 I3 {38 = & At Jardt wE=re OR: It is raining outside.
Ans 1. 9739 Hig =ger J|
2. MigegerdEaq |
3. grgg Hig =g e 1
o 4. T3 Hig =g faar 3
Question ID : 630680317711
Option 1 1D : 6306801235944
Option 2 ID : 6306801235943
Option 3 ID : 6306801235942
Option 4 ID : 6306801235941
Status : Answered
Chosen Option : 4
Q.41 33 Bt 518 AYRE IS § a1 TIAET B fan mure € 293 get 372
Ans 2 1. Al &8 PH 9B I3 393 T A<
2. J& fo it St g atort Uedhort I
3. J8 Y YA g3 I wa wre
4. TR AW R YR I
Question ID : 630680317680
Option 1 1D : 6306801235818
Option 2 ID : 6306801235820
Option 3 ID : 6306801235819
Option 4 1D : 6306801235817
Status : Answered
Chosen Option : 1
Q.42 I {5y el fed faa= waw geewa & I?
Ans 1. yrt
o 2. T&H
3. 7E
4. Had
Question ID : 630680317683
Option 1 1D : 6306801235830
Option 2 ID : 6306801235829
Option 3 ID : 6306801235832
Option 4 ID : 6306801235831
Status : Answered
Chosen Option : 2
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Q.43 g;éﬁsﬁﬁ@ 1 It o3 Harefanr fed ga=t yoed g & QU3 T yar

Ans g1 ficgzeeg
2. THI® WAHTS T gdd
3. Gt fodlt T gaa

4. ffe &g fie ygagar

Question ID : 630680317678
Option 1 1D : 6306801235809
Option 2 ID : 6306801235812
Option 3 ID : 6306801235811
Option 4 ID : 6306801235810
Status : Answered
Chosen Option : 1
Q.44 I3 fgy Hee fed Hu wae faaxr 32
Ans 71 gl
2. 23
3.2
4- ‘0 17_1
Question ID : 630680317706
Option 1 1D : 6306801235924
Option 2 ID : 6306801235921
Option 3 ID : 6306801235923
Option 4 ID : 6306801235922
Status : Answered
Chosen Option : 1
Q.45 wiwq, 9194, I51, €3; fAd wawt § fafoun fenme & fagdt fam feg e 7 AaT 2
Ans o 1. HEGTYS fdfgnm fenme
2. Hitmregd fafgn femme
3. BT dqfant fenme
4. fogTead fdfgnt fenme
Question ID : 630680317691
Option 1 1D : 6306801235861
Option 2 ID : 6306801235863
Option 3 ID : 6306801235862
Option 4 ID : 6306801235864
Status : Answered

Chosen Option :

1
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Q.46 49 % Uae g for fisfemn wran?

Ans g1 Q&
2. Gamit
3. Garac
4. 8839
Question ID : 630680317713
Option 1 1D : 6306801235949
Option 2 ID : 6306801235952
Option 3 ID : 6306801235950
Option 4 ID : 6306801235951
Status : Answered
Chosen Option : 1
Q.47 <&3r Hy<e o fenzdl fdar ot d_am?
Ans 1. &JT&!
o 2. 5
3. &df
4, dIMeE
Question ID : 630680317700
Option 1 ID : 6306801235898
Option 2 ID : 6306801235899
Option 3 ID : 6306801235897
Option 4 ID : 6306801235900
Status : Answered
Chosen Option : 2
Q.48 Tggdl g fen goegd A R I IHB Fa fezTd
Buda3 = § At ferman fdg B 2 fa fafipr 7ran?
Ans 1. 219 gt 21g, fer g9ed 93 3 It IS I T 1’
2. @1 get 21g, for g9eg 93t & 3T IS 99 AT J|
3. @19 gel 21y, “fer goed I3 & 3T aH® qg e I
o 4. T3 g8 T for gaes gt B 3t s 99 fi3r I
Question ID : 630680317703
Option 1 1D : 6306801235911
Option 2 ID : 6306801235909
Option 3 ID : 6306801235912
Option 4 ID : 6306801235910
Status : Answered
Chosen Option : 4
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Q.49 I3 fafimi fed Hu wae S I 9
Ans 1. goded

o 2. Had<d

3. HJd<d

4, AJd<Td
Question ID : 630680317716
Option 1 ID : 6306801235962
Option 2 ID : 6306801235963
Option 3 ID : 6306801235964
Option 4 ID : 6306801235961

Status : Answered
Chosen Option : 2
Q.50 I {5y Hewi fed Hu wae fagzr 37
Ans 1. HI&3
o 2. THaa3

3. Hfga3

4. Afaa3
Question ID : 630680317705
Option 1 ID : 6306801235917
Option 2 ID : 6306801235919
Option 3 ID : 6306801235918
Option 4 ID : 6306801235920

Status : Answered
Chosen Option : 2
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